NOTES:
1. DIMS IN INCHES
2. QTY: 1

Design Assembly

TOLERANCE UNLESSNOTED | DESIGNED

DIMENSION PLACES IN DIMENSION SIZE [DWG. NO. REV

TYPE 00 | 000 | 0.000 A EML2322L-A-000 A

LOCATIONAL | +0.050 | +0.020 | +0.005

ANGULAR +5 | +2 | +05 | SCALE:14 | | SHEET10F7
5 t 4 I 3 I 5 I :


mjb
Sticky Note
Names are removed for anonymity


DL":'T“’H DETAIL A
o N SCALE1:1
l/ \
[N . NOTES:
1. DIMS IN INCHES
2. QTY: 1
TITLE:
Design Assembly
DRAWN I
TOLERANCE UNLESS NOTED DESIGNED I
DIMENSION PLACES IN DIMENSION SIZE |DWG. NO. REV
TYPE 0.0 0.00 0.000 A EML2322L-A-000 A
LOCATIONAL +0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 [ SCALE:14 | | SHEET20F7
3 ' 2 | ]



—

ul
]

ul

e
)
= =
v \ \
|
g Gl @)
wll; =_ il i : :|
i @4 H B NOTES:
q o b 1. DIMS IN INCHES
2. QTY: 1
TITLE:
Design Assembly
DRAWN
TOLERANCE UNLESS NOTED DESIGNED |
DIMENSION PLACES IN DIMENSION SIZE |DWG. NO. REV
TYPE 0.0 0.00 0.000 EML2322L-A-000
LOCATIONAL +0.050 | +0.020 | +0.005 A A
ANGULAR 5 | +2 | +05 [ SCALE:14 | | SHEET3OF 7
I

3

2

1



FLUSH

DETAIL B
SCALE1:2 NOTES:
1. DIMS IN INCHES
2. QTY: 1
TITLE:
Design Assembly
DRAWN
TOLERANCE UNLESS NOTED DESIGNED [
DIMENSION PLACES INDIMENSION | SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-000 A
LOCATIONAL | +0.050 | +0.020 | +0.005
ANGULAR +5 +2 +0.5

SCALE: 138 | | SHEET 4 OF 7
I

2

1




'L%" PART NUMBER DESCRIPTION QTY.
Al |[EML2322L-A-100 Mobile Platform 1
A4 |[EML2322L-A-200 Ball Collector 1
A5 |[EML2322L-A-300 Hopper 1
A6 |[EML2322L-A-400 Ball Dispenser 1

0.25-20 1" countersunk
28 |[EML2322L- 501 ohillips screw 2
0.25-20 Button Head Cap
29 |EML2322L-502 Screw 4
32 |[EML2322L-505 80/20 0.25-20 T-NUT 6

@»)})})})})})})} -

DETAIL ‘) \
)

NOTES:
1. SOME COMPONENTS HIDDEN FOR CLARITY
2. QTY: 1
TITLE:
Design Assembly
DRAWN
TOLERANCE UNLESS NOTED DESIGNED |
DIMENSION PLACES INDIMENSION | SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-000 A
LOCATIONAL | +£0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 [ SCALE:18 | | SHEET50F7
5 f 4 3 | 5 I :


mjb
Sticky Note
1/4-20 x 0.5 Button Head Cap Screw

mjb
Sticky Note
1/4-20 x 1.0 Flat Head Phillips Screw


ITEM

NO. | PARTNUMBER DESCRIPTION QTY.
Al |EML2322L-A-100 Mobile Platform 1
A4 |[EML2322L-A-200 Ball Collector 1
AS |[EML2322L-A-300 Hopper 1
Aé |EML2322L-A-400 Ball Dispenser ]

0.25-20 1" countersunk
28 |[EML2322L- 501 ohillios screw 2

0.25-20 Button Head Cap 4

29 |EML2322L-502 Screw

32 |EML2322L-505 80/20 0.25-20 T-NUT 6

DETAIL D
SCALE1:2

NOTES:

DETAIL E
SCALE1:2

1. SOME COMPONENTS HIDDEN FOR CLARITY

5 ' 4 3 | 2

1

2. QTY: 1
TITLE:
Design Assembly
DRAWN I
TOLERANCE UNLESS NOTED DESIGNED I
DIMENSION PLACES INDIMENSION | SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-000 A
LOCATIONAL | £0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 [ SCALE:18 | | SHEET6OF 7
I


mjb
Sticky Note
1/4-20 x 0.5 BHCS

mjb
Sticky Note
1/4-20 x 1.0 Flat Head Phillips Screw


ITEM

NO. PART NUMBER DESCRIPTION QTY.
Al |[EML2322L-A-100 Mobile Platform 1
A4 |[EML2322L-A-200 Ball Collector 1
A5 |[EML2322L-A-300 Hopper 1
A6 |[EML2322L-A-400 Ball Dispenser 1
0.25-20 1" countersunk
28 |EML2322L- 501 ohillips screw 2
0.25-20 Button Head
29 |EML2322L-502 Cap Screw 4
32 |[EML2322L-505 80/20 0.25-20 T-NUT 6

1. SOME COMPONENTS HIDDEN FOR CLARITY

2. QTY: 1

DETAIL F
SCALE1:2

TITLE:
Design Assembly
DRAWN
TOLERANCE UNLESS NOTED DESIGNED I
DIMENSION PLACES INDIMENSION | SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-000 A
LOCATIONAL | £0.050 | +0.020 | +0.005
ANGULAR 5 | 42 | 405 | SHEET 7 OF 7

2

SCALE: 18 |
I
1


mjb
Sticky Note
1/4-20 x 1.0 Flat Head Phillips Screw

mjb
Sticky Note
1/4-20 x 0.5 BHCS


NOTES:
2. QTY: 1

1. ALL DIMS INCHES

Mobile Platform

DRAW
TOLERANCE UNLESSNOTED | DESIGNED
DIMENSION PLACES INDIMENSION | SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-100 A
LOCATIONAL | +£0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 [ SCALE:14 | | SHEET10F 6
3 | 2 | 1




RE =
(

NOTES:
1. ALL DIMS INCHES
2. QTY: 1
TITLE:
Mobile Platform
DRAWN
TOLERANCE UNLESS NOTED DESIGNED I
DIMENSION PLACES INDIMENSION | SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-100 A
LOCATIONAL | +0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 | SCALE:14 | | SHEET2OF 6
I

2

1



)

NOTES:
< 1. ALL DIMS INCHES
2. QTY: 1
TITLE:
Mobile Platform
DRAWN
TOLERANCE UNLESS NOTED DESIGNED
DIMENSION PLACES INDIMENSION | SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-100 A
LOCATIONAL | +0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 | SCALE:14 | | SHEET 3 OF 6
3 | 2 | 1




NOTES:
1. ALL DIMS INCHES
2. QTY: 1
TITLE:
Mobile Platform
DRAWN
TOLERANCE UNLESS NOTED DESIGNED
DIMENSION PLACES INDIMENSION | SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-100 A
LOCATIONAL | +0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 [ SCALE:14 | | SHEET 4 OF 6
3 | 2 | 1




ITEM NO. PART NUMBER DESCRIPTION QTY.
A2 EML2322L-A-110 Drive Assembly 2
A3 EML2322L-A-120 Frame Assembly 1

1 EML2322L-101 Control Box 1

EML2322L-102 2.5" Swivel Caster 1

3 EML2322L-103 Bucket Stabilizer 1
29 EML2322L-502 0.25-20 Button Head Cap Screw 10
32 EML2322L-505 80/20 0.25-20 T-NUT 10

NOTES:
2. QTY: 1

1. ALL DIMS INCHES

TITLE:
Mobile Platform

DRAWN

TOLERANCE UNLESS NOTED DESIGNED
DIMENSION PLACES INDIMENSION | SIZE |DWG. NO. REV
A TYPE 0.0 0.00 | 0.000 A EML2322L-A-100 A
= LOCATIONAL | +0.050 | +0.020 | +0.005
ANGULAR 5 | +2 | +05 [ SCALE:14 | | SHEET 5 OF 6
I I
5 3 2 1


mjb
Sticky Note
1/4-20 x 0.5 BHCS


ITEM NO. PART NUMBER DESCRIPTION QTY.
A2 EML2322L-A-110 Drive Assembly 2
A3 EML2322L-A-120 Frame Assembly 1

1 EML2322L-101 Control Box 1
EML2322L-102 2.5" Swivel Caster 1
EML2322L-103 Bucket Stabilizer 1

29 EML2322L-502 0.25-20 Button Head Cap Screw 10
32 EML2322L-505 80/20 0.25-20 T-NUT 10

e —
\ N

A2
I _
%l
a : : o 0
2 < NOTES:
o/ --- 1. ALL DIMS INCHES
2. QTY: 1
29 TITLE:
Mobile Platform
DRAWN |
A3 TOLERANCE UNLESS NOTED DESIGNED |
DIMENSION PLACES IN DIMENSION SIZE [DWG. NO. REV

TYPE 00 | 000 | 0.000 A EML2322L-A-100 A

LOCATIONAL | +0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 | SCALE:14 | | SHEET 6 OF 6
I

N
w

' | 2 1


mjb
Sticky Note
1/4-20 x 0.5 BHCS


e T
A l o
’ N 1 1
5.6 —
40 1 + — !
3.2
1.7
A .
* i
0.25 —
—~= 11.5 -
—~= 11.13 -
~—5.62
~— 3.8 —
] ﬁ ~ ®0.313THRU;
0.38 1 4 PLACES
r | —— __@; ________ 1 )
[ <1
@® €!
r T ]
98 | | NOTES:
95 | | 1. DIMS IN INCHES
8.8 | I 2. QTY SPECIFIED IN BOM
i | | 3. DIMS AND MAT'L SPECIFIED
7.75 | | BY MANUFACTURER
| IBUOAGION 3} |
. J TOLERANCE UNLESS NOTED TITLE:
i ¢ e MEASURING | PLACES IN DIMENSION Control Box
! N d INSTRUMENT 00 | 000 | 0000 |oRawN  J.DERSCH
1 v Y ! — J CALIPERS 0005 |oEsGheD  INNOVATION FIRST
1 75 PRECISION L0015 SIZE [DWG. NO. REV
07— RULER - EML2322L-101
: TAPE MEASURE | +0.030 A A
PROTRACTOR | +10 | 5 | +2 | SCALE:14 | | SHEET 10F f
5 f 4 3 ! 2 ! 1




2.56 -

234 ————

—— 022

—0.47
©0.266 THRU; | ;
4 PLACES
3 =
=g ' 1
1.50
2.50
©2.00 ‘

7

—~— 1.00 —

NOTES:

1. ALL DIMS IN INCHES

2. QTY: 1

3. DIM AND MAT'L SPECIFIED
BY MANUFACTURER

TOLERANCE UNLESS NOTED TITLE:
MEASURING PLACES IN DIMENSION 2.5" Swivel Caster
INSTRUMENT 00 | 000 | 0000 |oRAWN |
CALIPERS +0.005 | DESIGNED
PRECISION L0015 SIZE [DWG. NO. REV
R — EML2322L-102
TAPE MEASURE | +0.030 A A
PROTRACTOR | +10 | 5 | +2 | SCALE:11 | | SHEET 10F f
5 f 4 3 I 9 I :



\
@ )
— NOTES:
1.DIMS IN INCHES
2.QTY: 1
3.MAT'L: 18 GA. SHEET STEEL
4. FINISH NOTED SURFACES
5.BREAK ALL EDGES
TOLERANCE UNLESS NOTED TITLE:
PLACES IN DIMENSION Bucket Stabilizer
OPERATION 00 | 000 | 0000 |oRawN
FOLDED VIEW MACHINING DESIGNED [
(IF APPLICABLE) SHEETMETAL 1 SIZE [DWG. NO. REV
WELDING | +0.1 | +0.060 A i A
ANGULARDIMS | +5 | +2 SCALE: 12 | | SHEET10F2
I I
3 2 ]




[}

8.0

- 55
48 -
-~ 13—
] o5 - $0.266 THRU;
' 2 PLACES

3.1

DOWN 90° R.05

1.0

NOTES:

1.DIMS IN INCHES

2.QTY: 1
3.MAT'L: 18 GA. SHEET STEEL
4.FINISH NOTED SURFACES
5.BREAK ALL EDGES

TOLERANCE UNLESS NOTED TITLE:
PLACES IN DIMENSION Bucket Stabilizer
OPERATION
UNFOLDED VIEW 00| 00 | oo o i
MACHINING DESIGNED
(IF APPLICABLE) SHEETVETAL SIZE [DWG. O REV
WELDING +01 | +0.060 A ) A
ANGULARDIMS | +5 | +2 SCALE: 11 | | SHEET20F 2
t I I
3 2 1




NOTES:

1. ALL DIMS INCHES

2. QTY: 2
TITLE:
Drive Assembly
DRAWN
TOLERANCE UNLESS NOTED DESIGNED
DIMENSION PLACES INDIMENSION | SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-110 A
LOCATIONAL | +0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 | SCALE:1:2 | | SHEET 10F3
I

2

1




(6.7)

mn
N
|-

| 3.0)
~———(1.5)
NOTES:
-~ 117) 1. ALL DIMS INCHES
v 2. QTY: 2
TITLE:
Drive Assembly
DRAWN
TOLERANCE UNLESS NOTED DESIGNED |
DIMENSION PLACES IN DIMENSION SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 EML2322L-A-110
LOCATIONAL +0.050 | +0.020 | +0.005 A A
ANGULAR +5 | +2 | +05 | SCALE:14 | | SHEET20F 3
I

f 4 3 ! 2 ]



ITEM NO. PART NUMBER DESCRIPTION QTY.

4 EML2322L-111 10 Inch Wheel 1
5 EML2322L-112 44 RPM Ens’ro;\’rAgi%hrT Angle Gear 1
6 EML2322L-113 Enstort Motor Mount 1
7 EML2322L-114 Enstort Wheel Hub 1
30 EML2322L-503 10-24 1" phillips machine screw 3
35 EML2322L-508 Méx1.0 16m hex cap screw 3

EML2322L-509 M8x1.25 13mmW 8mmH hex nut ]

1. ALL DIMS INCHES

2. QTY: 2
TITLE:
Drive Assembly
DRAWN
TOLERANCE UNLESS NOTED DESIGNED
DIMENSION PLACES INDIMENSION | SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-110 A
LOCATIONAL | +0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 | SCALE:1:2 | | SHEET 3 OF 3
5 ! 4 3 ! 2 ' 1



mjb
Sticky Note
M6x1.0x16mm Hex Head Cap Screw

mjb
Sticky Note
10-24 x 1 Phillips Machine Screw

mjb
Sticky Note
Entstort Motor Mount

mjb
Sticky Note
Entstort Wheel Hub


mjb
Sticky Note
M8x1.25 Hex Nut


0.31;
3 PLACES

®10.0

®7.0

®2.5

®0.51
D1.4

2.1
1.75

_ 0135

6 PLACES

?0.196 THRU:

®1.500 BOLT CIRCLE 3 PLACES
TOLERANCE UNLESS NOTED TITLE:
NOTES: MEASURING PLACES IN DIMENSION 10 Inch Wheel
1. DIMS IN INCHES INSTRUMENT ™00 [ 000 | 0000 |orawn  J DERSCH
2. QTY SPECIFIED I.N BOM CALIPERS £0.005 |DEsieNED  ARNOLD
TAPE MEASURE | +0.030 A EML23221-111 A
PROTRACTOR | +10 | 5 | +2 | SCALE:14 | | SHEET10F2
I I
3 2 1




TOLERANCE UNLESS NOTED TITLE:
NOTES: MEASURING PLACES IN DIMENSION 10 Inch Wheel
1. DIMS IN INCHES INSTRUMENT 00 T 000 | 0000 |oRaww  J.DERSCH
2. QTY SPECIFIED IN BOM CALIPERS +0005 |DEsieNED  ARNOLD
TAPE MEASURE | +0.030 A EML2322L-111 A
PROTRACTOR | +10 | 5 | +2 | SCALE:14 | | SHEET20F 2
t 3 I 5 I :

=~

/e

=X

0.83 —
0.67 —

0.51 —

SECTION B-B




M8 x 1.25

©2.000 BOLT CIRCLE = 152 |~

Méx 1.0V 15mm; 0.62 — =
3 Places
0.37 =

©0.393
SPLINED—
00.44

®1.03
©2.40

II ||

4.57 ——————

~—=——0.8]
NOTES:
6.70 1. DIMS IN INCHES
‘ 2. QTY SPECIFIED IN BOM
3. DIMS AND MAT'L SPECIFIED
BY MANUFACTURER

TOLERANCE UNLESS NOTED TITLE:

MEASURING PLACES IN DIMENSION 44 RPM Entstort Right Angle Gear Motor
INSTRUMENT 00 | 000 | 0000 |oRaww  J.DERSCH

CALIPERS £0.005 |DESGNED  ENTSTORT

PRECISION L0015 SIZE [DWG. NO. REV

ROLER - EML2322L-112
TAPE MEASURE | +0.030 A A
PROTRACTOR | +10 | 5 | +2 | SCALE:12 | | SHEET 10F f
I I

5 4 3 2 1



~ 2116 —— ©0.250 THRU;
~——1.250 — 3 PLACES
0.384 ———
i ] Q
i ) ) |
/ E—
I Q)
- (D : 40
3.500 @ @ Q
2.50 Q
2.000
! ' 0.5 o
v i Y | NOTES:
} 1.DIMS IN INCHES
N . 019 2.QUANTITY: 2
. - . . — 3.MAT'L: ALUMINUM
L ©0.266 THRU; 4. FINISHED NOTED SURFACES
~—— .25 —= 2 PLACES 5.BREAK ALL EDGES
~—20 TOLERANCE UNLESS NOTED TITLE:
— 2.5 - PLACES IN DIMENSION Enstort Motor Mount
OPERATION |
00 | 000 | 0000 |DRawN |
MACHINING | +0.050 | +0.020 | +0.005 | DESIGNED
gHFT{ h?FsFH (EsA/\xF\{/\)/, 201 | 20060 SIZE [DWG. NO. REV
WELDING +01 | +0.060 A EML23221-113 A
ANGULARDIMS | +5 | =2 | 05 | SCALE:11 | | SHEET10OF 1

3 I 2

I
1



®»0.157 THRU:
10-24 UNC THRU:

3 PLACES

0.650

®1.3

©»0.331 THRU
©0.39 0.40 DEEP

BORE OPP SIDE ©0.75 0.90 DEEP

NOTES:
1.QTY: 2

1 2. ALL DIMS IN INCHES
1.50 3.MAT'L: ALUMINUM
+ : 4, FINISHED NOTED SURFACES
5.BREAK ALL EDGES
0.50 TOLERANCE UNLESS NOTED TITLE:
PLACES IN DIMENSION Enstort Wheel Hub
} OPERATION — |
SECTION A-A 0.0 0.00 0.000 1
MACHINING | +0.050 | +0.020 | +0.005 |DESIGNED
ngFT{ ,\cl)FSFH (ESA/\\F\{/\)/, 201 | 20060 SIZE [DWG. NO. REV
WELDING +01 | +0.060 A EML23221.-114 A
ANGULARDIMS | 35 | +2 | 05 | SCALE:11 | | SHEET 10F t
t I I
3 2 1


mjb
Sticky Note
suppress hidden lines


NOTES:
1. DIMS IN INCHES

2. QTY: 1
TITLE:
Frame Assembly
DRAWN [
TOLERANCE UNLESS NOTED DESIGNED [
DIMENSION PLACES INDIMENSION | SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-120 A
LOCATIONAL | +0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 | SCALE:14 | | SHEET10F5
I

4 3 ! 2 ]



30 —
NOTES:
1. DIMS IN INCHES
2. QTY: 1
TITLE:
Frame Assembly
DRAWN [
TOLERANCE UNLESS NOTED DESIGNED [
DIMENSION PLACES INDIMENSION | SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-120
LOCATIONAL | +0.050 | +0.020 | +0.005 A
ANGULAR +5 | +2 | +05 [ SCALE:14 | | SHEET20OF 5

3 ! 2 ! ]



b

|

—~—{ 68—

NOTES:
_’ (20) 1. DIMS IN INCHES
2. QTY: 1
TITLE:
Frame Assembly
DRAWN
TOLERANCE UNLESS NOTED DESIGNED
DIMENSION PLACES IN DIMENSION SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-120 A
LOCATIONAL | +0.050 | +0.020 | £0.005
ANGULAR +5 | +2 | +05 | SCALE:14 | | SHEET 3 OF 5
I

2

1




ITEM NO. PART NUMBER DESCRIPTION QTY.
8 EML2322L-121 80/20 Extrusion, 5" 1
9 EML2322L-122 80/20 Extrusion, 6.1" 2
10 EML23221-123 80/20 Extrusion, 8.8" 1
11 EML2322L-124 80/20 Extrusion, 9.8" 2
12 EML2322L-125 80/20 Extrusion, 13" 1
13 EML2322L-126 80/20 Extrusion, 15" 2
14 EML2322L-127 80/20 Extrusion, 19.8" ]
29 EML2322L-502 0.25-20 button head cap screw 38
32 EML2322L-505 80/20 0.25-20 T-nut 38

80/20 90 Degree Angle Bracket 19

NOTES:
1. DIMS IN INCHES
2. QTY: 1
TITLE:
Frame Assembly
DRAWN
TOLERANCE UNLESS NOTED DESIGNED i
DIMENSION PLACES IN DIMENSION SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-120 A
LOCATIONAL +0.050 | +0.020 | +0.005

ANGULAR

| SHEET 4 OF 5

+5 | +2 | +05 | SCALE:14 |
I I
2

1


mjb
Sticky Note
1/4-20 x 0.5 BHCS


ITEM NO. | PART NUMBER DESCRIPTION QTY.

8 EML2322L-121 80/20 Extrusion, 5" 1

? EML2322L-122 | 80/20 Extrusion, 6.1" 2

10 EML2322L-123 80/20 Extrusion, 8.8" 1

11 EML2322L-124 80/20 Extrusion, 9.8" 2

12 EML2322L-125 80/20 Extrusion, 13" 1

13 EML2322L-126 80/20 Extrusion, 15" 2

14 EML2322L-127 | 80/20 Extrusion, 19.8" 1

0.25-20 button head
29 EML2322L-502 cap screw 38

32 EML2322L-505 80/20 0.25-20 T-nut 38

3

80/20 90 Degree Angle
33 EML2322L-506 Bracher 9 19
NOTES:
1. DIMS IN INCHES
2. QTY: 1
TITLE:
Frame Assembly
DRAWN I
TOLERANCE UNLESS NOTED DESIGNED I
DIMENSION PLACES IN DIMENSION SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-120 A
LOCATIONAL +0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 | SCALE:14 | | SHEET50F 5
I

I 2 1


mjb
Sticky Note
1/4-20 x 0.5 BHCS


-—‘ 1.00 .
1.00
\ RO.1
®»0.201 THRU
NOTES:
1. ALL DIMS IN INCHES
2. BREAK ALL EDGES
3. DIM AND MAT'L SPECIFIED
BY MANUFACTURER
Length (L) QTY TOLERANCE UNLESS NOTED TITLE: . .
>0 ] MEASURING PLACES IN DIMENSION 80/20 Aluminum Extrusion
6.1 2 INSTRUMENT 00 1 000 1 0000 |oRemn
8.8 1 CALIPERS +0.005 | DESIGNED
9.8 2 PRECISION SIZE [DWG. NO. REV
13.0 1 RULER o EML2322L-121
15.0 2 TAPE MEASURE | +0.050 A ] A
198 1 PROTRACTOR | +10 | 5 | +2 | SCALE:1:2] | SHEET 10F 1
T I I
3 2 1



mjb
Sticky Note
add individual part numbers for each unique piece (length) of 80/20


H .

* 1.0

0.5

0.19—= ™=

RO.2;

®0.257 THRU:
2 PLACES

2 PLACES 0.5 + | | |
{019 o
RO.1 *
TOLERANCE UNLESS NOTED TITLE:
NOTES: MEASURING PLACES IN DIMENSION 80/20 90 Degree Angle Bracket
1. DIMS IN INCHES INSTRUMENT ™00 T 000 [ 0000 |orawy  J DERSCH
2. QTY SPECIFIED IN BOM CALIPERS +0.005 |DESIGNED  80/20 INC.
TAPE MEASURE | +0.030 A EML23221.-506 A
PROTRACTOR | +10 | 5 | 2 | SCALE:151] | SHEET 10F f
5 ! 4 3 ! 2 ! 1




NOTES:
1. DIMS IN INCHES

2. QTY: 1
TITLE:
Ball Collector Assembly
DRAWN
TOLERANCE UNLESS NOTED DESIGNED
DIMENSION PLACES IN DIMENSION SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-200 A
LOCATIONAL | +0.050 | +0.020 | £0.005
ANGULAR +5 | +2 | +05 | SCALE:14 | | SHEET 10F3
3 | 2 | 1




1 =
|
—1 =
0
NOTES:
1. DIMS IN INCHES
2. QTY: 1
3. TACK WELD ALL THREE SIDES
TITLE:
Ball Collector Assembly
DRAWN
TOLERANCE UNLESS NOTED DESIGNED
DIMENSION PLACES INDIMENSION | SIZE [DWG. NO. REV
TYPE 0.0 0.00 | 0.000 EML2322L-A-200
LOCATIONAL | +0.050 | +0.020 | +0.005 A A
ANGULAR +5 | +2 | +05 [ SCALE:14 | | SHEET20F 3
I I
3 2 1




',LEO'\{‘ PART NUMBER DESCRIPTION QTY.
15 |EML2322L-201 4.5 RPM Globe Gear Motor| 1
16 |EML2322L-202 Ball Collector Front Box 1
17 |[EML23221-203 Ball Collector Rib 1 @
18 |EML2322L-204 Ball Collector Side Panel 2
19  |EML2322L-205 Ball Collector Top Panel 2
20A  |EML2322L-206A Rubber Band, Collector 7
90 degree sheet metal

21 EML2322L-207 welding tab 8
Méx1.0 12mm hex cap

34 |EML2322L-507 screw

NOTES:
1. DIMS IN INCHES
2. QTY: 1

TITLE:

Ball Collector Assembly

DRAWN
TOLERANCE UNLESS NOTED DESIGNED

DIMENSION PLACES IN DIMENSION SIZE [DWG. NO. REV

TYPE 00 | 000 | 0.000 A EML2322L-A-200 A

LOCATIONAL | +0.050 | +0.020 | +0.005

ANGULAR +5 | +2 | +05 | SCALE:14 | | SHEET 3 OF 3
I

5 ! 4 3 I 2 1



mjb
Sticky Note
M6x1.0x12mm Hex Head Cap Screw

mjb
Sticky Note
use consistent capitalization


®1.50
@ 4.65

0 5.66

@ 0.257 THRU:

CSINK @ 0.57 X 90°;

5 PLACES

?»2.789 BOLT CIRCLE
?5.000 BOLT CIRCLE

NOTES:

1. DIMS IN INCHES

2. QTY SPECIFIED IN BOM

3. DIMS AND MAT'L SPECIFIED
BY MANUFACTURER

.
0
®»0.51 THRU
Méx 1.0V 12mm;
0.03 4 PLACES
= = (),23
—— ~0.87
6.18 —
TOLERANCE UNLESS NOTED TITLE:
MEASURING PLACES IN DIMENSION 4.5 RPM Globe Gear Motor
INSTRUMENT 00 | 000 | 0000 |oRamy  J DERSCH
CALIPERS +0.005 | DESIGNED GLOBE
PRECISION 0015 SIZE [DWG. NO. REV
RULER - A EML2322L-201
TAPE MEASURE | +0.030 A
PROTRACTOR | +10 | 5 | +2 | SCALE:13 | | SHEET 10F t
I I
3 2 1




—~——{(5.00 )

NOTES:

1.QTY: 1

2.ALL DIMS IN INCHES
3.MATL: 16 GAUGE SHEET STEEL
4.FINISH NOTED SURFACES

5.BREAK ALL EDGES

TOLERANCE UNLESS NOTED TITLE:
PLACES IN DIMENSION Ball Collector Front Box
OPERATION |
00 | 000 | 0.000 |oRAmN
FOLDED VIEW MACHINING PESIONED
SHEETVETAL | 0+ | 20060 | <0030 | SZE [DWG. NO. REV
ARSI L L EML2322L-202
WELDING +0.1 +0.060 A A
ANGULARDIMS | +5 | +2 SCALE: 12 | | SHEET10F2
t 4 3 I 5 I :




~ 14.8 -
— 13.6 -—
- 9.8 -
A
6.7 _DOWN 90° R.06
< © \
Q Q
. . (112.5°)
2.9 K S 3.0
yd z
— 03 s 2 (67.5°)
V o1 5 o8 S o 0 0
0.4 ‘_24* G019 THRU: ]
W _ 6 PLACES
= 5.0 -
= 9.9 -
— 10.4 -
- 12.4 -
~ 14.4 -
NOTES: TOLERANCE UNLESS NOTED TITLE:
1.QTY: 1 PLACES IN DIMENSION Ball Collector Front Box
2. ALL DIMS IN INCHES OPERATION |0 T o0 T oo o 2
LTS e SAUCEIEST | UNFOLDED VIEW | | s -
5.BREAK ALL EDGES T TSy | 201 | 0060 [ s0030 | SIZE [DWG. NO. REV
WELDING +01 | +0.060 A EML23221-202 A
ANGULARDIMS | +5 | +2 SCALE: 12 | | SHEET20F 2
5 ! 4 3 ! 2 ' 1



!= (4.8) -
*—( 0.5 )
NOTES:
1.QTY: 1
2.ALL DIMS IN INCHES
3. MATL: 16 GAUGE SHEET STEEL
4, FINISH NOTED SURFACES
5.BREAK ALL EDGES
TOLERANCE UNLESS NOTED TITLE:
PLACES IN DIMENSION Ball Collector Support Rib
OPERATION -
00 | 000 | 0000 |oRawN
FOLDED VIEW MACHINIG
(EEEE\EMEEQB) +01 | +0.060 | +0.030 | SIZE |DWG. NO. REV
WELDING +01 | +0.060 A EML2322.-203 A
ANGULARDIMS | #5 | 2 SCALE: 11 | | SHEET 1 0F 2
t I I
3 2 1




|

%‘
o
o

5.7

o
o
' \

0.5

| |
| |
| |
O O
S S
(2’4 [a'4
) )
o~ o~
z z
2 2
O @)
la )
NOTES:
1.QTY: 1
2. ALL DIMS IN INCHES
3.MATL: 16 GAUGE SHEET STEEL
4. FINISH NOTED SURFACES
5.BREAK ALL EDGES
TOLERANCE UNLESS NOTED TITLE:
PLACES IN DIMENSION Ball Collector Support Rib
OPERATION |
00 | 000 | 0000 |oRawN i
UNFOLDED VIEW MACHINING ——
SHEETVETAL | 0+ | 20060 | <0030 | SZE [DWG. NO. REV
SEREER T EML2322L.-203
WELDING | #0.1 | 0060 A A
ANGULARDIMS | +5 | +2 SCALE: 11 | | SHEET20F 2
t I I
4 3 2 ]



17.0

~—— 2.5 —

2X @ 0.25 THRU ALL

3.0
25 [67.5°)
e PP ST
o o5 4X @ 0.19 THRU ALL !
0.5 — 10.5 - —0.3
- 12.5 -—
- 14.5 —
- 16.5 -
TOLERANCE UNLESS NOTED TITLE:
PLACES IN DIMENSION Ball Collector Side Panel
']\I%TTEYS.:Q OPERATION 00 | 000 | 0.000 |oRAm
2. ALL DIMS IN INCHES MACHINING CESONED
3.MATL: 16 GAUGE SHEET STEEL | &ERTVERNE) | <01 | <0060 | s0030 | SIZE [DWG. NO. REV
4. FINISH NOTED SURFACES A EML2322L-204 A
5.BREAK ALL EDGES WELDING +0.1 | £0.060
ANGULARDIMS | +5 | +2 SCALE: 12 | | SHEET 10F f
4 3 ' 2 ' :



10.0

NOTES:

1.QTY: 2

2.ALL DIMS IN INCHES

3.MATL: 16 GAUGE SHEET STEEL
4.FINISH NOTED SURFACES
5.BREAK ALL EDGES

TOLERANCE UNLESS NOTED TITLE:
PLACES IN DIMENSION Ball Collector Top Panel
OPERATION
00 | 000 | 0.000 |oRAm
MACHINING DESIGNED
GHEAR BEND) | £01 | £0060 | s0030 | SIZE [DWG. NO. REV
WELDING +0.1 | £0.060 A EML23221.-205 A
ANGULARDIMS | +5 | +2 SCALE: 12 | | SHEET 10F f
I I
2 1

3




KNOT TIED IN BAND

— ©0.1
|: Y
— L o
NOTES:
1.DIMS IN INCHES
2.QTY: 8
3.LENGTH (L) IS VARIABLE
4.DIA. SHRINKS AS LENGTH INCREASES
ITEM NO. LENGTH (L) QTY.
20A 50 7 TOLERANCE UNLESS NOTED TITLE;
20B 3.1 1 PLACES IN DIMENSION Rubber Band
OPERATION
00 | 000 | 0000 |DRawN
MACHINING | +0.050 | +0.020 | +0.005 |DESIGNED
ngFT{ ’\(I)FSFH (Esﬁl\a,\)/’ 01 | 20060 SIZE [DWG. NO. REV
WELDING +01 | +0.060 A EML23221-206 A
ANGULARDIMS | +5 | =2 | 05 | SCALE:11 | | SHEET 10F f
T T
4 3 2 1




—{0.6)—

(0.5)

~—— 05—

NOTES:
1.DIMS IN INCHES

2

3.MAT'L: 16 GA. SHEET STEEL
4.FINISH NOTED SURFACES
5.BREAK ALL EDGES

LQTY: 11

TOLERANCE UNLESS NOTED TITLE:
pLaces INDIMENSION | 90 degree sheet metal welding tab

OPERATION 00 | 000 [ 0000 |oRamn |
FOLDED VIEW MACHINING DESIGNED I
(IF APPLICABLE) SHEETVETAL .1 | <ae0 | <0000 | SIE [PWG NO. REV

WELDING | +0.1 | +0.060 A EML2322L-207 A

ANGULARDIMS | +5 | +2 SCALE:4:1 | | SHEET 10F 2

I I
3 2 ]




O
o
o
)
0.5 o
z
<
@)
)
—~ 1.0 -
NOTES:
1.DIMS IN INCHES
2.QTY: 11
3.MAT'L: 16 GA. SHEET STEEL
4. FINISH NOTED SURFACES
5.BREAK ALL EDGES
TOLERANCE UNLESS NOTED TITLE:
PLACES IN DIMENSION 90 degree sheet metal welding tab
OPERATION |
UNFOLDED VIEW 0o | 0| ou_jonun :
MACHINING DESIGNED
(IF APPLICABLE) SHEETVETAL SIZE [OWG. NG, REV
WELDING | #0.1 | +0.060 A i A
ANGULARDIMS | +5 | +2 SCALE: 41 | | SHEET20F2
! 4 3 ' 2 | 1



NOTE 3

NOTES:
1. DIM IN INCHES
o | 2. QY]
L 3. KNOTS TIED IN ELASTIC BAND
I i L] TITLE:
08— Hopper Assembly
DRAWN
TOLERANCE UNLESS NOTED DESIGNED [
DIMENSION PLACES IN DIMENSION SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-300 A
LOCATIONAL | +0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 | SCALE:14 | | SHEET 10F2
t 3 I 5 I :




ITEM NO. PART NUMBER PART/ASSEMBLY NAME QTY.
20B EML2322L-206B Rubber Band, Hopper 1
90 Deg Bracket Sheet Metal
21 EML2322L-207 Welding 3
22 EML2322L-301 Ball Hopper Main Body 1
23 EML2322L-302 Ball Hopper Side Pannel 1
24 EML2322L-303 Ball Hopper Angled Panel ]
NOTES:
1. DIM IN INCHES
2. QTY: 1
TITLE:
Hopper Assembly
DRAWN |
TOLERANCE UNLESS NOTED DESIGNED [
DIMENSION PLACES IN DIMENSION SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 EML2322L-A-300
LOCATIONAL | +0.050 | +0.020 | +0.005 A A
ANGULAR 5 | 12 +05

SCALE: 1:4 | | SHEET 2 OF 2
I

2

1



NOTES:
1.DIMS IN INCHES

2.QTY: 1
3.MAT'L: 18 GA. SHEET STEEL

4.FINISH NOTED SURFACES
5.BREAK ALL EDGES

TOLERANCE UNLESS NOTED TITLE: .
OPERATION P;A(\)CE|S Il(\)l ([)30|ME|N?)|<03(; - Hopper Main Body
FOLDED VIEW MACHINNG == — Joesened
(IF APPLICABLE) SHEETUETAL 101 [ <0060 | o0 | SZE [OWG. MO REV
WELDING | +0.1 | +0.060 A EML2322L-301 A
ANGULARDIMS | +5 | +2 SCALE: 14 | | SHEET10F 3
3 | 2 ' ]




23.7

13.6
‘ — } T A A
LN
252
OF o 40
50 a |
7.2 | 2 l 4.9
. - 7.8
i o DOWN 90°R.05 @ | | l 10.7
1
) 11.9
O\LO
z<
1L64=—f 3
&
DOWN 90° R .05 \
3.0 - Y
10.8 ——— NOTES:
18.1 - 1.DIMS IN INCHES
2.QTY: 1
3.MAT'L: 18 GA. SHEET STEEL
4.FINISH NOTED SURFACES
5.BREAK ALL EDGES
TOLERANCE UNLESS NOTED TITLE: .
OPERATION PLACES IN DIMENSION Hopper Main Body ]
UNFOLDED VIEW 0o | oo | ou_jovun 1
C G DESIGNED
(IF APPLICABLE| SZE [OVG O
WELDING | +0.1 | +0.060 A - A
ANGULARDIMS | +5 | +2 SCALE: 14 | | SHEET20F3
I

3

1



$0.266 THRU
2 PLACES
~— 5./ —™
~—7.6 - 2.9 —
[} -
&
4.7 1 A %
S
‘ d DOWN 90° R .05 \ e |
- 4 A . -
Q
S
(o]
z
e
QPOWN 90° R .05 ©0.188 THRU
NOTES:
1.DIMS IN INCHES
2.QTY: 1
3.MAT'L: 18 GA. SHEET STEEL
4.FINISH NOTED SURFACES
5.BREAK ALL EDGES
TOLERANCE UNLESS NOTED TITLE: .
OPERATION PLACES IN DIMENSION Hopper Main Body ]
UNFOLDED VIEW 0o | oo | ou_jovun :
C G DESIGNED
(IF APPLICABLE) SZE [DWG O
WELDING | +0.1 | +0.060 A - A
ANGULARDIMS | +5 | +2 SCALE: 14 | | SHEET3OF3
4 3 | 2 | 1



0.9 —

/»gb 0.19 THRU

2.8

Y

- 9.8

NOTES:

1.QTY: 1

2. ALL DIMS IN INCHES
3. MATL: 18 GAUGE SHEET STEEL
4. FINISH NOTED SURFACE(S)
5.BREAK ALL EDGES

TOLERANCE UNLESS NOTED TITLE:

PLACES IN DIMENSION Hopper Side Pannel

OPERATION |
00 | 000 | 0.000 |oRAmN |

MACHINING DESIGNED

GHEAR BEND) | £01 | £0060 | s0030 | SIZE [DWG. NO. REV

WELDING +01 | £0.060 A EML2322L-302 A

ANGULARDIMS | +5 | +2 SCALE: 12 | | SHEET 10F f

I I
2 1

F 4 3



3.8

NOTES:

1.QTY: 1

2.ALL DIMS IN INCHES

3.MATL: 18 GAUGE SHEET STEEL
4.FINISH NOTED SURFACES
5.BREAK ALL EDGES

TOLERANCE UNLESS NOTED TITLE:
PLACES IN DIMENSION Hopper Angled Panel
OPERATION
00 | 000 | 0.000 |oRAm
MACHINING DESIGNED
GHEAR BEND) | £01 | £0060 | s0030 | SIZE [DWG. NO. REV
WELDING +01 | £0.060 A EML2322L-303 A
ANGULARDIMS | +5 | +2 SCALE: 11 | | SHEET 10F f
I I
2 1

3



NOTES:
1. DIMS IN INCHES

2. QTY: 1
TITLE:
Ball Dispenser Assembly
DRAWN |
TOLERANCE UNLESS NOTED DESIGNED |
DIMENSION PLACES IN DIMENSION SIZE [DWG. NO. REV

TYPE 00 | 000 | 0000 A EML2322L-A-400 A

LOCATIONAL | +0.050 | +0.020 | +0.005
ANGULAR +5 | +2 | +05 | SCALE: 11 | | SHEET 10F3

f 4 3 ! 2 ! ]



—

(3.4)

2.8

I

NOTES:
1. DIMS IN INCHES
- - 2. QTY: 1
TITLE:
Ball Dispenser Assembly
DRAWN
TOLERANCE UNLESS NOTED DESIGNED
DIMENSION PLACES IN DIMENSION SIZE |DWG. NO. REV
TYPE 0.0 0.00 | 0.000 A EML2322L-A-400 A
LOCATIONAL | +0.050 | +0.020 | £0.005
ANGULAR +5 | +2 | 05 [ SCALE:12 | | SHEET20F 3
5 t 4 I 5 I :




ITEM NO. PART NUMBER ASSEMBLY/PART NAME QTY.
25 EML2322L-401 17.5 RPM Molon Gear Motor 1
26 EML2322L-402 Molon Motor Hub 1
27 EML2322L-403 Molon Motor Mount 1
31 EML2322L-504 10-32 1 inch phillips machine screw 4
37 EML2322L-510 10-24 3/8 inch socket set screw 1
38 EML2322L-511 10-24 2.5 inch threaded rod 1

NOTES:

1. DIMS IN INCHES

2. QTY: 1

TITLE:

Ball Dispenser Assembly

DRAWN

TOLERANCE UNLESS NOTED

DESIGNED

DIMENSION
TYPE

PLACES IN DIMENSION

0.0 0.00

0.000

LOCATIONAL

+0.050 | +0.020

+0.005

SIZE

A

DWG. NO.
EML2322L-A-400

REV

A

ANGULAR

+5 +2

+05

SCALE: 12 |
I

| SHEET 3 OF 3

2

1



mjb
Sticky Note
10-32 x 1 inch Phillips Machine Screw

mjb
Sticky Note
10-24 x 3/8 inch Socket Set Screw

mjb
Sticky Note
10-24 x 2.5 inch Threaded Rod


/p
N\

-~ 34—
~—1.68 —
1.00 ~———
0.84 —~———
1.38 —= 1.38 0.75 — 1.188 1.188
5 3 CRT N
0.94 ok 0»0.79 —— 7 0.688
' ] — | & Pl
©®0.70 — 1.50 1.50
2.06 I 1.813
$0.313 — 62 oy l L
\-q} -49) = D
®0.5 ——0.86 =~ ®1.09
®0.159 THRU;
10-32 UNF THRU:;
4 PLACES
TOLERANCE UNLESS NOTED TITLE:
NOTES: MEASURING PLACES IN DIMENSION 17.5 RPM Molon Gear Motor
1. DIMS IN INCHES INSTRUMENT ™00 [ 000 | 0000 |orawn  J DERSCH
2. QTY SPECIFIED IN BOM CALIPERS +0.005 |DESIGNED  MOLON
3. IE?\lfMAi A/\A\NNUDF /Q\AéTl‘JIkSEPRECIFIED PRREUCL|E|F?N 0,015 SIZE [DWG. NO. REV
TAPE MEASURE | +0.030 A EML23221.-401 A
PROTRACTOR | +10 | 5 | +2 | SCALE:12 | | SHEET 10F f
5 f 4 3 ! 2 ! 1




® 0.157 ¥ 0.8

@ 0.323 THRU

10-24 UNC V¥ 0.8 ®»0.157 ¥ 0.8
10-24 UNC V¥V 0.8
025+=— = 095 = |=
— 0.75
TOLERANCE UNLESS NOTED TITLE:
) OPERATION PLACES IN DIMENSION Molon Motor Hub |
']\'%TT'?' : 00 | 000 | 0000 |DRAWN |
2A|.|_ D|MS IN INCHES MACHINING +0.050 | +0.020 | +0.005 |DESIGNED
3. MATL: ALUMINUM SURN SHEAR) | 201 | <0060 SIZE |DWG. NO. REV
4. FINISH NOTED SURFACE(S) A EML2322L-402 A
5.BREAK ALL EDGES WELDING +0.1 +0.060
ANGULARDIMS | +5 | =2 | 05 | SCALE:11 | | SHEET 10F f
t 4 3 I 5 I :



~= 3.185 -
— 0.810 —
! )
N @ P
©0.75 THRU;
2 PLACES
4.1
~ @®0.196 THRU;
3.800 M 4 PLACES
iy M ©0.266 THRU:
2 PLACES
2.0 T e /
1.300 | Q—)/
- @ ' U NOTES:
0.5 : ' 1.QTY: 1
| ! 2.DIMS IN INCHES
} 3. MAT'L: ALUMINUM
——0.19 ' 5.BREAK ALL EDGES
— 3.5 -—
TOLERANCE UNLESS NOTED TITLE:
PLACES IN DIMENSION Molon Motor Mount
OPERATION o
00 | 000 | 0000 |oRAWN |
MACHINING | +0.050 | +0.020 | +0.005 | DESIGNED
CoT P (Esz\xF\{/\)/, o1 | <0060 SIZE [DWG. NO. REV
WELDING +01 | +0.060 A EML2322-403 A
ANGULARDIMS | 55 | +2 | 05 | SCALE:11 | | SHEET 10F t
T [ [
4 3 2 1





